
Método dos coeficientes a determinar
any

(n) + an−1y
(n−1) + ... + a1y

′ + a0y = r(x)

Regra básica

r(x) yp

c A

cxn Anx
n + An−1x

n−1 + ... + A1x + A0

cnx
n + cn−1x

n−1 + ... + c1x + c0 Anx
n + An−1x

n−1 + ... + A1x + A0

c eax A eax

c cos kx A cos kx + B sin kx

c sin kx A cos kx + B sin kx

(cnx
n + cn−1x

n−1 + ... + c1x + c0) sin kx

(cnx
n + cn−1x

n−1 + ... + c1x + c0) cos kx

 (Anx
n + An−1x

n−1 + ... + A1x + A0) sin kx+

+(Bnx
n + Bn−1x

n−1 + ... + B1x + B0) cos kx

(cnx
n + cn−1x

n−1 + ... + c1x + c0) eax (Anx
n + An−1x

n−1 + ... + A1x + A0) eax

c eax sin kx A eax sin kx + Beax cos kx

c eax cos kx A eax sin kx + Beax cos kx

(cnx
n + cn−1x

n−1 + ... + c1x + c0) eax sin kx

(cnx
n + cn−1x

n−1 + ... + c1x + c0) eax cos kx

 (Anx
n + An−1x

n−1 + ... + A1x + A0) eax sin kx+

+(Bnx
n + Bn−1x

n−1 + ... + B1x + B0) eax cos kx


